DU MPhil Phd in Arabic

Topic:- ARABIC MPHIL S2

1) 188 cswlall agioll Jgol Ge G pgo WS
[Question ID = 5083]

Joiio (,c Cazei S [Option ID = 20326]

&5 & a0 A5 S [Option ID = 20327]

&L, ol Lizy iS5 S [Option ID = 20328]

&20l> &3S0 sJ] Juai wa,S [Option ID = 20329]
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Correct Answer :-
o alu, 97 Lz S5 S [Option ID = 20328]

2) 2l wylo i 8,59 1 ilS dio (ANl J> o JS supiidl Jowin Ul e (ails odpsi Joo of ol aniiy Blg i i
e Jai )Ll 04d "ailwlly gexesdU 8280 (duijo (Aig9ao

[Question ID = 5084]

Grizills el @l [Option ID = 20330]

ausl &S,> ,,,45 [Option ID = 20331]

a0 45 [Option ID = 20332]

wsewliw 1,85 [Option ID = 20333]
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Correct Answer :-
o s.i=ilg el &L, [Option ID = 20330]
3) oo WUl aslu Ul LY uwlioll £5.090)l Hlisl B\ Puxal] jue Bl sl
[Question ID = 5085]
Segogoll 11s o alw, &S Sasll (ol [Option ID = 20334]
€ Josl 1igs pgdl i Ui Lsudlb _s9i [Option ID = 20335]
3S9 1> Sl Vg Gzl JoS, U [Option ID = 20336]
Wl paazy JlasVl plas Meaio ggogall WS, wi [Option ID = 20337]

A wWwN =

Correct Answer :-
® 1S 1> Sl Ugay Gl JoSy Ja [Option ID = 20336]

4) 1 uw Je9YI closwl juo
[Question ID = 5086]

1. owuig li>[Option ID = 20338]
2. &ligsg ool [Option ID = 20339]
3. <lwg p= [Option ID = 20340]
4. ,Sg9 S [Option ID = 20341]

Correct Answer :-
® :lig>g ool [Option ID = 20339]

5) :Jd>lo W bcladl

[Question ID = 5087]

1. weall adlell 8cl,8llg «as ol 8cl,8)lg «@ua=l 8<l,)l [Option ID = 20342]
2. aimsll dshyally cayslell el,allg < amyyall b¢l,8)l [Option ID = 20343]

3. 8,,Sx0ll 8clalls @yl bel,allg < @drnsdl bcl,a)l [Option ID = 20344]

4. ayslel bel,ally < audell 8cl,8lly <&y ! b¢l,a)l [Option ID = 20345]

Correct Answer :-
o dsoell dcl,8lly (@uslel dcl,8lly (asyyudl 3<l,8)l [Option ID = 20343]

6) (oD lpsjgig 63loll god sdioll asiy bl
[Question ID = 5088]

. Byl oo cginn wllay (8 slgall 2o [Option ID = 20346]
. 5ol 59 slgall go= [Option ID = 20347]

. wgwl=l (88 slgell go> [Option ID = 20348]

. zwanll uo,sll (sl slgall 2o [Option ID = 20349]

A W N -

Correct Answer :-
o 99l yo dcgian Wl (9 slgell go> [Option ID = 20346]

7) 198 pamioll auwoMl o >l 0l
[Question ID = 5089]

1. Note books [Option ID = 20350]

2. Academic Research Card [Option ID = 20351]
3. Loose Leaf Book [Option ID = 20352]



4. Xeroxed papers with spiral binding [Option ID = 20353]

Correct Answer :-
® Loose Leaf Book [Option ID = 20352]

8) il Ul LWl wle
[Question ID = 5090]

awl)lg é¢l,8)l [Option ID = 20354]
Juozl LolwVI [Option ID = 20355]
O w4, laedl [Option ID = 20356]
wlallolly a2l [Option ID = 20357]

A w N =

Correct Answer :-
o ulellodlg auseil [Option ID = 20357]

9) UV ok oWl wuixiv Ul LY

[Question ID = 5091]

1. Gabzilly Gmed) LU ade zusw Lo JS [Option ID = 20358]
2. auyY lowd b,gill [Option ID = 20359]

3. o3Vl el &udlio [Option ID = 20360]

4, JoxJl 9 L> aslxoll [Option ID = 20361]

Correct Answer :-
o a2V lud b,gdl [Option ID = 20359]
o Jizl 8 L> @sloll [Option ID = 20361]

10) : g9 Ul wx 6,89 Lo ST gwladYl uls 13]
[Question ID = 5092]

1. Ve L [Option ID = 20362]

2. owidouw [Option ID = 20363]

3. owideig @guw [Option ID = 20364]

4. ks [Option ID = 20365]

Correct Answer :-
® g [Option ID = 20363]

11) el adkasd @il
[Question ID = 5093]
. SlewVlg gsSly « gl Jio wilbglly LlalVI Jlasiwl [Option ID = 20366]
. pdyull wloMe plazsowl [Option ID = 20367]
. oxsg LwludYl b eVl gaog [Option ID = 20368]
. el s Gwladl wglwl ,Las| [Option ID = 20369]

AWN—\

Correct Answer :-
o 3liwVlg eiSlg « guidl Jio wilbglly LlalVI Jlasiwl [Option ID = 20366]

12) 19 "ehhewidl Jog=d wliub" LLS
[Question ID = 5094]

il [Option ID = 20370]

&u,! [Option ID = 20371]

&1l 8,0l [Option ID = 20372]

w2l LVl [Option ID = 20373]

A W N -

Correct Answer :-
e sl [Option ID = 20370]

3) 1 OLwdl Wl Gaodl G0 600l £381) o309 > 0Ll uyeSiedl sVl Guw 2uadl Lyl s

A. WSl o] e

B. ol Gox)yJl e

C. )l 839> dnoxll Auc
D. S o>l e
[Question ID = 5095]

1. D, C, B, A [Option ID = 20374]
2. A, D, C, B [Option ID = 20375]
3. A, C, B, D [Option ID = 20376]
4. A.D. C. B [Option ID = 20377]

Correct Answer :-
e A, D, C, B[Option ID = 20375]

14) ::Wly VI G U8

[l NAT




A. |y byl . gwbsll posdl elymis o
B. U Sudse (H grec Il. L__Ss.o‘l"‘,-\ax.”:bm.'i'.lop
C. syizl . el ey oo

D. dishy Juo> IV. g0 paiell eyl o

[Question ID = 5096]
1. A-IV,B-1ll,C-1I,D-1

[Option ID = 20378]
2. A-1L,B-1I,C-1,D-1V
[Option ID = 20379]

3. A-IV,B-Il,C-1Il,D-I

[Option ID = 20380]
4. A-11,B-1V,C-1,D-1I

[Option ID = 20381]

Correct Answer :-
e A-IILB-IV,C-1,D-1l

[Option ID = 20381]

15) :guxaldl ulbil il

[Question ID = 5097]

S92l szl el el ol 1 o MowYl sp)l (s aigl [Option ID = 20382]
w>gidll Ul aus> (s lgs tagl]l [Option ID = 20383]

5,985, Ll ool (suolill 1 pMawVl (8 gclly ,Sall Jl>, [Option ID = 20384]
o szl szl aue 1 aiplly aiwll Jls, [Option ID = 20385]

A wWw N =

Correct Answer :-
o ool Ul s 8o wlgs taelJl [Option ID = 20383]

16) vladl Ao o gwdl pbVl Ul o
[Question ID = 5098]

L)l GLlg ,3 131 Llsll [Option ID = 20386]

o)l ol [Option ID = 20387]

. lusoll Lugolall [Option ID = 20388]

uwe,2)l 2l [Option ID = 20389]

A WN -

Correct Answer :-
o =laJl ULy =13l Ll [Option ID = 20386]

17) 1B 1919 6,95 VU] Al GlLdWboJl 8 LS, Lino 1il" G saoll pi"y i) oo duw
[Question ID = 5099]

. UlBgb s918 [Option ID = 20390]

&,,90031 @ssle [Option ID = 20391]

Jole; a,a.0 [Option ID = 20392]

Susud| @uol [Option ID = 20393]

-

A w N

Correct Answer :-
o Jsle; a,a.0 [Option ID = 20392]
18) :awll Qyuw 9 il adli pgo LUS
[Question ID = 5100]
1. Uayd] wowg 1 Sbos [Option ID = 20394]
2. Ukl w9 1S, e Jasl [Option ID = 20395]
3. slaell sgoxo ywlic 1 pl8 8L> [Option ID = 20396]
4. ool a1 1 8Lzl sasele 15l [Option ID = 20397]

Correct Answer :-

o slaell sg0x0 Lwlic :pld 8L [Option ID = 20396]

19) :98 aJl AW 8 puivgll duiw JMbYI Auuinio Giidso 1A xeliv
[Question ID = 5101]

1. psilS ¢ 9,0c [Option ID = 20398]

2. swluw wsul G ed; [Option ID = 20399]

3. sl o @,b [Option ID = 20400]

4, s,Seadl 83> u @, [Option ID = 20401]

Correct Answer :-

® o)l o @b [Option ID = 20400]

20) : S5Vl dloci Go ST o euin W2 SLd plle
[Question ID = 5102]

1. S99, wdl =]l a8 [Option ID = 20402]



2. Gow> dgoxo il Fuow [Option ID = 20403]
3. el o=l aue aoMell [Option ID = 20404]
4. s,ludodl (uJl 0 [Option ID = 20405]

Correct Answer :-
® S,995,pudl =l LAL8 [Option ID = 20402]
21) 1\ Aw )l a=llL “HRDM” J axuxall an>:ull
[Question ID = 5103]
&y il 5,)lgoll dasins 6,139 [Option ID = 20406]
&yl 5)lgnll @undi 8,l39 [Option ID = 20407]
&y il 5)lgoll laydazi 8,159 [Option ID = 20408]
&yl s )lgoll augss 8,59 [Option ID = 20409]

A WN =

Correct Answer :-
o a0l 5,lg0ll @uaii 8,59 [Option ID = 20407]
22) :Jl 6Lyl Loud Aauxs gl Ao o pwladVI LIS 3]
[Question ID = 5104]
cowzd @il powly Jlaodl wlgic [Option ID = 20410]
cozd @lzeoll powly < aliod] powl [Option ID = 20411]
Coxd au,lig a2l pd)9 «@lxoll pwl [Option ID = 20412]
&ao=J| [Option ID = 20413]

AW N -

Correct Answer :-
® g.0=JI [Option ID = 20413]

23) 109 "SIl G wlelw” jupaid] @S slasll Wi

[Question ID = 5105]

1. owxs azllly LVl [Option ID = 20414]

2. audally UsVlg (sl [Option ID = 20415]

3. wawd Sleall el [Option ID = 20416]

4. o= gu,lly d&wdall [Option ID = 20417]

Correct Answer :-
o aulally LsVlg aail [Option ID = 20415]

24) 198 (Ol g Il polyi GE G UL Gan> 39aw0 oVl Wliddo o Wi

[Question ID = 5106]
1. baeVl sJol alas,

[Option ID = 20418]

2. JoVlg 3Vl 5Ll 5lo ,als> o JUSwl 2l
[Option ID = 20419]

3. pelell sl

[Option ID = 20420]
4. il ang,ll

[Option ID = 20421]

Correct Answer :-
o JgVlg ,5Vl 5Lkl 5l Lol oo SISl Wl

[Option ID = 20419]

25) "&bl A" D bo

[Question ID = 5107]

1. 85,L ooz 4w oy 88 ppo LS [Option ID = 20422]
2. ooVl (siiw 8 aalizeo u9les [Option ID = 20423]

3. il 20 8 @y ou9les dsaw [Option ID = 20424]
4. sLuully Jl> )l o=l Jg> ye4 LS [Option ID = 20425]

Correct Answer :-
o LoleVl uni o9 @alizo (ugles [Option ID = 20423]

26) :aw,=)l a=llL Bar Council of India J asuo aw>:yi izl
[Question ID = 5108]

Saipll @awall yud=o [Option ID = 20426]

il uolxoll @ las [Option ID = 20427]

Saipll csudall Gud=oll [Option ID = 20428]

Sl G el jud=o [Option ID = 20429]

A W N -

Correct Answer :-
o &l uolxoll &lss [Option ID = 20427]



27) :NAAC o >lyoll

[Question ID = 5109]

1. &gl asleally wleolzl) (sleVl Lul=oll [Option ID = 20430]

2. gl oleolxll slssl [Option ID = 20431]

3. @3S 0l dogSmll isbodl BlrsYl e b (sl @3S 00Jl asolzl [Option ID = 20432]

4. (amded] ©luwdall 859> pusiad) BlicVly pusiill (sidogll Lulzall [Option ID = 20433]

Correct Answer :-
o (aouledl wlwwsoll 659> pusid) BlueVly puysid) (subgll jud=oll [Option ID = 20433]

28) S,xdl y=widl o SHoll b
[Question ID = 5110]

5948 We> o [Option ID = 20434]
Jowyall ,=il [Option ID = 20435]
a9Vl ,o.adl [Option ID = 20436]
Jushll ;% 2. [Option ID = 20437]

A W N -

Correct Answer :-

o Juw,oll )2l [Option ID = 20435]

29) @y, e Wl VS

[Question ID = 5111]

1. Bbal o Lgael 1relivg LslS [Option ID = 20438]
2. Lysw oo bowle Ihelivg LslS [Option ID = 20439]
3. sao oo lelag Lsls [Option ID = 20440]

4. LVl o Lelag LS [Option ID = 20441]

Correct Answer :-
o LVl o Lelig LilS [Option ID = 20441]

30) :guxall syl il
Suocs desull Lolo 98 Lo "Say 1A shymuindl ol sy b allly il

[Question ID = 5112]
1. csuandl e 1S 20ll

[Option ID = 20442]
2. Szl pe oo ol

[Option ID = 20443]
3. plod ol e syl

[Option ID = 20444]

[Option ID = 20445]

Correct Answer :-
o Szl oo plei ol
[Option ID = 20443]

31) :Jgiug WAnod 5\ L JS Mic i Il Sy iy ULS v el
98 § il UgJgii ¥ oS Lo WS umoimnodl e Juis pi | Allg Crinnl

[Question ID = 5113]
1. plos g.gi

[Option ID = 20446]
2. Syl

[Option ID = 20447]

[Option ID = 20448]
4. Csoloaexdl

[Option ID = 20449]

Correct Answer :-
o szl
[Option ID = 20447]
32) 1o bowd Sl o>
[Question ID = 5114]
1. asiMoJl &Jlw, [Option ID = 20450]



2. waill Blgwl [Option ID = 20451]
3. wlyesll &L, [Option ID = 20452]
4. 53)l lhiw [Option ID = 20453]

Correct Answer :-
o _ail Blgwl [Option ID = 20451]

33) Jlad s9adly sl L €l Liddl Ul S ULS el
o] Cusiown Ul L M dldl syl Logs il 13]”

[Question ID = 5115]

[Option ID = 20454]
2. LSl

[Option ID = 20455]
3. wuladl powlall gl

[Option ID = 20456]
4. puslyl kel

[Option ID = 20457]
Correct Answer :-
o bl powladl o
[Option ID = 20456]

34) :cWlg VI G U,

<l el
A. Julgi g I obgll u>

B. ab dgoxo wwlefll. divulilly daSal
C. pudlyl Bol> [l Sl yel

D. (uiioll IV. duuilog,)l

[Question ID = 5116]
1. A-Nl,B-1IV,C-1,D-1l

[Option ID = 20458]

2. A-1,B-1I,C-1I,D-IV
[Option ID = 20459]

3. A-1,B-1I,C-1V,D-I

[Option ID = 20460]
4. A-IV,B-1lI,C-1l,D-1

[Option ID = 20461]

Correct Answer :-
e A-IIlLB-IV,C-1,D-1l

[Option ID = 20458]
35) (oWl e v
[Questlon ID = 5117]
L8> 1= ggogell a5 [Option ID = 20462]

gl uo,2) gg090ll Ll [Option ID = 20463]
Cowxd G ol axwai pLsll [Option ID = 20464]
ulas VI Vg gg.090ll @xlleo [Option ID = 20465]

AWN—\

Correct Answer :-
o 5.9 laya=i g9o90)l yaxs [Option ID = 20462]
36) €' Ulwgdid LUl W\ U0l asuuw” LLS Wi Lo
[Question ID = 5118]
S92l sle ouzll o, [Option ID = 20466]
Ols o> (3o Ulgi oVl [Option ID = 20467]
ol <Ll sl esle pMe aoMell [Option ID = 20468]
5,945, Lall ,pbl (suslall [Option ID = 20469]

A W N -

Correct Answer :-

o sl ,SLlsll sle pMe @aoMell [Option ID = 20468]
37) Sawloxdl Ulgss 92 Lo

[Question ID = 5119]



o)leil oo plaigl an,s Lo [Option ID = 20470]

ol jlesil oo plod gl 0,1 Lo [Option ID = 20471]
olileoll tlex any® o dcgazo [Option ID = 20472]
vl clyeu an,d Lo dcgoxo [Option ID = 20473]

A W N -

Correct Answer :-
o Lol el oo plo gl oLzl Lo [Option ID = 20471]

38) :guxall syl sl

[Question ID = 5120]

. 0lLall Oly yuwss: csiowell 32l auc [Option ID = 20474]

. poizodl da>,Jl 165,945 ,Ladl Ule>,JI a0 [Option ID = 20475]

. aalll Jgol s @bl @ Sgaull izl sle a0, [Option ID = 20476]
. JooVl ple o Jgololl Jgas S moniS)l ol g5l [Option ID = 20477]

A W N -

Correct Answer :-
o pgizoll s>l 1,905 Loll Ule> )l (s [Option ID = 20475]

39) :aJdWl 6kl axuxall dos il s
"WVl wog adle 195950 Ul Jouss ool e wasai Jl3i ¥ Sl (§,8"

[Question ID = 5121]
1. A group of workers is taking out the people trapped under debris

[Option ID = 20478]
2. Rescuer’s groups are searching the surviving people stuck under the rubbles

[Option ID = 20479]
3. A group of rescueres is trying to find out the person survived from the rubble

[Option ID = 20480]
4. Rescue teams are still searching for potential survivors stuck under the rubble

[Option ID = 20481]

Correct Answer :-
® Rescue teams are still searching for potential survivors stuck under the rubble

[Option ID = 20481]

40) :98 "plid o s ud>" Qgl,
[Question ID = 5122]

1. (=wl ool [Option ID = 20482]

2. pl_u.uﬁ (GRS weTete [Option ID = 20483]

3. w9l s ol [Option ID = 20484]

4. sJSuioll Ll aasl [Option ID = 20485]

Correct Answer :-

® plid o swune [Option ID = 20483]

41) lgad9 ppisly v sl sl wasJl gghuill lgdg>9 (Aighs lgowgg Au,xi lgsocy Sdg)WI Ay lgsl> <l il o aclo>
PD a2l gy plg S Mic

[Question ID = 5123]
1. OlgyJl &w, a0 sl

[Option ID = 20486]
2. olgl dclo>

[Option ID = 20487]
3. wekdloll ehsidl

[Option ID = 20488]
4. aadVl avasll

[Option ID = 20489]

Correct Answer :-
o Ughdlxoll ¢l 2l
[Option ID = 20488]

42) 98 iyl juy55 Wl les s ils Jgl
[Question ID = 5124]

wwlad! puwld [Option ID = 20490]

ool pewld [Option ID = 20491]

Jgle; asw [Option ID = 20492]

oJuc Ao [Option ID = 20493]

A W N -



Correct Answer :-

® ol pwls [Option ID = 20491]

43) 1D o madd] aasdl o Aol eVl 85UJ1 Jiwi s\l yawasll
[Question ID = 5125]

1. "Ohuall' 8 wsbglaiall LS Lo [Option ID = 20494]

2. "ugusll ol Lo" (58 5005 Aze LpuiS Lo [Option ID = 20495]

3. "asox duidl’ (sd 90 seemo LpusS Lo [Option ID = 20496]

4. "alll Lis" (b bgamo wumw piS Lo [Option ID = 20497]

Correct Answer :-
o "Ugelloly " 9 ;9045 Axo LpiS Lo [Option ID = 20495]

44) 1 SIWI ol 59 adaaldl Olaweoll G
gy gl Jos Jaslls weoll pail 3] polie gubie

[Question ID = 5126]
1. owlixdl
[Option ID = 20498]
2. &,
[Option ID = 20499]
3. Sl

[Option ID = 20500]
4. Qb

[Option ID = 20501]

Correct Answer :-
o wlixll
[Option ID = 20498]
45) : Jiow JLoJl 14D U] "useo JMg wsl”
[Question ID = 5127]
aJ Jg=aol! [Option ID = 20502]

. &laoll Jgeaoll [Option ID = 20503]
J=JI [Option ID = 20504]
. ysoxJl [Option ID = 20505]

AW N =

Correct Answer :-
e Jl=JI [Option ID = 20504]

46) aliwwVl e wd pi adWl oV i8]

Sail y5ea) s Vi 55 Vg Ing> Tsiaci

I53—of 853u— iic Sl slosll g slxill g

135 aJ] 3o ax—2Jl J| peaal 96 poall 13
-V VEC | I perni 999 SiJl YLD

ooVl 0dd yo,8 Lo

[Question ID = 5128]
1. sasdl 50l

[Option ID = 20506]
2. clausdl

[Option ID = 20507]
3. audaxll

[Option ID = 20508]
4. udj o wsS

[Option ID = 20509]
Correct Answer :-
o Luuzll

[Option ID = 20507]

47) aliawVl e wl pi adWl ol )81
Sal ya) VLS Vi 5 V3 139> Tvae i
1550l &3um wiie Sl slosll 249} skl Jugb



135 @] 3o Ax—DJl V| peasl 6 poil 15]

B go P Aol @ el 999 SiJl ULd
S lio log UVl Cudl 09 139> aolS @ b
Sal yka) VLS Vi B3 Vg 159> Tici

[Question ID = 5129]
1. 1> Lolexgl sosuidl Lo lad (rizow F Jsd oo cido  [§ aolS s

[Option ID = 20510]
2. LSl LoVl U csiio B @olS o

[Option ID = 20511]

[Option ID = 20512]
4, Ulzw b aolsdl (suiso

[Option ID = 20513]

Correct Answer :-

o LSl ooVl Jod sike B aolS o
[Option ID = 20511]

48) aliwVl e wl pi adWl VIl i,91

Sal ya) uLsg Vi 555 V3 I5g> Tiaci

15)—ol &5 ju iic SLuw slosll gad) slxill g

13y @] "o ax—2Jl | peaal g6 poall 13
B go R A0l @ perdil (99 Sl UL

T VW Gl 908 bl Olicuxoll i
" 1530l A pm i Sl slosll g9 sl Jugb”

[Question ID = 5130]
1. Jowye sl

[Option ID = 20514]
2. &uSo b)leiwl

[Option ID = 20515]
3. aUsHl (s zusls

[Option ID = 20516]

[Option ID = 20517]
Correct Answer :-
o Ul (59 zush
[Option ID = 20516]

49) aliawVl e i pi adWl GVl i8]

Sl y5ea) uLss Vi 5 V3 I5g> Tt

153—ol &5 pa iic Sluw slosll 248) slxill Jugb

13 @] A—o ax—2Jl J| pgdal 6 po—all I3
g0 piaoll @ e (399 il ULd

VWl Gl uso Lo

15—l 85— iic Slaw slosll 29} skl usb

[Question ID = 5131]
1. owldl sesy OSg ¢ x| &9, canla)l Jugb 0lS il

[Option ID = 20518]

2. alo (sle ,%is) UlSy ( Fols wa 159 « 89,4l w>lo OIS ail,
[Option ID = 20519]

3. oges laiu> angd £l csuly U pwsdl JSud Sl gle 0lS il

[Option ID = 20520]
4. sa8 989 poall sLwg « pwldl isde Byl ,uS psall (58 lowkacy L « lelsenis OIS asly



[Option ID = 20521]
Correct Answer :-
o 59989 poill sLwg « bl sle BlasYl S cogill (s lowbacy Litews el OIS sl

[Option ID = 20521]

50) aliwVl e wd pi aJdWl VIl iy8l1

Sail yswa) VLSS Vi 5 V3 I59> Tuaci

1530l 853um wiie Sl slogll g9 slxill Jugb

13 ] 3o ax—2Jl V| peadal 8 poall 13
B g0 R A0l @ pernl 999 il ULd

o9 "axoll | Al Ao " o o)l

13 @] 3o ax—aJl V] poaal # po—all I3

[Question ID = 5132]
1. slholly &g2oll el ppusl Guldl 2oy sl padl LS sacluwsl 1 2o

[Option ID = 20522]
2. o3Vl a3V ol e

[Option ID = 20523]
KRR VETRV W VR S AY

[Option ID = 20524]
4. posll o JloJl is

[Option ID = 20525]

Correct Answer :-

o clhollg &iganll g,dJnJM_xgi uwldl aog a==dl Liasdl S sacluwodl 3y 20
[Option ID = 20522]





